=

AIPNALS_4EALA

o
o

UEILA40_LZA4E Y

alphal3_4eX1X:cyclenum {run == 8001}

10112 101125 10113 101135 10114

cyclenum

delta46_12X4eY:cyclenum {run == 8001}

10112 10112.5 10113 10113.5 10114

cyclenum

alpha4b_4ey4ay

8003

3002.5

8002

3001.5

8001

3000.5

8000

7999.5

7999

alpha46_4eY4aY:cyclenum {run == 8001}

10112 101125 10113 101135 10114

cyclenum

run:cyclenum {run == 8001}

10112 101125 10113 10113.5 10114
cyclenum

deltal3_lzx4ex

segment

o
o

25

15

05

deltal3_12X4eX:cyclenum {run == 8001}

P S RPN AR
10112 101125 10113 101135 10114
cyclenum

segment:cyclenum {run == 8001}
S A I RPN AR
10112 10112.5 10113 10113.5 10114
cyclenum




USI_1A

usi_4ey

0.5

=

usl_1X:cyclenum {run == 8001}

_..E ................... * ......................
P PR BT AR R
10112 10112.5 10113 10113.5 10114
cyclenum

usl_4eY:cyclenum {run == 8001}

10112 10112.5 10113 10113.5 10114

cyclenum

usl_say

usl_12x

[

0.5

[

0.5

usl_4aY:cyclenum {run == 8001}

10112 101125 10113 10113.5 10114
cyclenum

usl_12X:cyclenum {run == 8001}

10112 101125 10113 10113.5 10114

cyclenum

usl_sex

8003

3002.5

8002

3001.5

8001

3000.5

8000

7999.5

7999

usl_4eX:cyclenum {run == 8001}

[

10112 101125 10113 101135 10114
cyclenum

run:cyclenum {run == 8001}

10112 10112.5 10113 10113.5 10114

cyclenum



USI_L1A

usI_aey

0.5

=

usr_1X:cyclenum {run == 8001}

_..E ................... * ......................
P PR BT AR R
10112 10112.5 10113 10113.5 10114
cyclenum

usr_4eY:cyclenum {run == 8001}

10112 10112.5 10113 10113.5 10114

cyclenum

usr_say

usr_12x

[

0.5

[

0.5

usr_4aY:cyclenum {run == 8001}

10112 101125 10113 10113.5 10114
cyclenum

usr_12X:cyclenum {run == 8001}

10112 101125 10113 10113.5 10114

cyclenum

usr_aex

8003

3002.5

8002

3001.5

8001

3000.5

8000

7999.5

7999

usr_4eX:cyclenum {run == 8001}

[

PP P RPN AR
10112 101125 10113 101135 10114
cyclenum

run:cyclenum {run == 8001}

10112 10112.5 10113 10113.5 10114

cyclenum




6042.5

16042

6041.5

16041}

5040.5

=

usi_culo

0.5

usl_coill:cyclenum {run == 8001}

10112 101125 10113 101135 10114
cyclenum

usl_coil6:cyclenum {run == 8001}

10112 101125 10113 101135 10114
cyclenum

[

usl_cols

0.5

6667

3666.5

6666

3665.5

6665

usl_coil3:cyclenum {run == 8001}

10112 101125 10113 10113.5 10114
cyclenum

usl_coil7:cyclenum {run == 8001}

10112 101125 10113 10113.5 10114

cyclenum

usl_coil4:cyclenum {run == 8001}

[

usl_coll4

PP P RPN AR
10112 101125 10113 101135 10114
cyclenum

run:cyclenum {run == 8001}
8003

3002.5

8002

3001.5

8001

3000.5

8000

7999.5

N I N A S B
10112 10112.5 10113 10113.5 10114
cyclenum




4743.5

14744

47445

14745

4745.5

=

usI_coio

usr_coill:cyclenum {run == 8001}

L L METETE BT
10112 10112!! 10113 101135 10114
cyclenum

usr_coil6:cyclenum {run == 8001}

L L METETE R
10112. 10113 101135 10114
cyclenum

i
10112

usr_coil3:cyclenum {run == 8001}

usr_colls
=

0.5

10112 101125 10113

usr_coil7:cyclenum {run == 8001}
3152.8

10113.5 10114
cyclenum

3152.6F

3152.4

3152.2

33152

3151.8

3151.6

3151.4

3151.2

33151

3150.8F

EL T 1] S R LLECLELE TELECRE PP

1 1 1 |
10112 10112. 10113 10113.5

cyclenum

usr_coll4
=

8003

3002.5

8002

3001.5

8001

3000.5

8000

7999.5

7999

usr_coil4:cyclenum {run == 8001}

L
10112 101125 10113 10113. 10114
cyclenum

run:cyclenum {run == 8001}

TR AR L L
10112.5 10113 10113. 10114
cyclenum

i
10112




-121.5

-122

-122.5

-123

-123.5

-224

-224.5

-225

-225.5

-226

1X_coill:cyclenum {run == 8001}

10112 101125 10113 101135 10114
cyclenum

4eX_coill:cyclenum {run == 8001}

10112 10112.5 10113 10113.5 10114

cyclenum

1X_coll3

4eXx_colls

[

0.5

1

1X_coil3:cyclenum {run == 8001}

10112 101125 10113 101135 10114

cyclenum

4eX_coil3:cyclenum {run == 8001}

10112 101125 10113 10113.5 10114
cyclenum

214.2

214

213.8

213.6

213.4

213.2

213

212.8

2126

212.4

212.2

212

221.8

1221.6 F
221.4F

221.2F

221

220.8

220.6

220.4

2202
220F
219.8F

219.6 F

1X_coil7:cyclenum {run == 8001}

10112 101125 10113 101135 10114
cyclenum

4eX_coil7:cyclenum {run == 8001}

Eol v v by by v by 1y
10112 10112.5 10113 10113.5 10114
cyclenum



yclenum {run == 8001}

4aY_coil7:c

yclenum {run == 8001}

4aY_coilé:c

yclenum {run == 8001}

4aY_coild:c

10113 101135 10114
cyclenum

101125

10112

10113 10113.5 10114
cyclenum

101125

10112

91l0” AR

101125 10113 101135 10114
cyclenum

10112

#1100 ARt

yclenum {run == 8001}

4eY_coil7:c

yclenum {run == 8001}

4eY_coilé:c

yclenum {run == 8001}

4eY_coild:c

10113 10113.5 10114
cyclenum

10112.5

10112

-30.5
-31.5

10113.5 10114
cyclenum

10113

101125

91l0” A8t

#1100 Lt

10112

10113 101135 10114
cyclenum

10112.5

10112



-231.5

-232

-232.5

-233

-233.5

1ZA_CUNO

1

12X_coill:cyclenum {run == 8001}

10112 10114

cyclenum

101125 10113 101135

12X_coil6:cyclenum {run == 8001}

10112 101125 10113 101135 10114
cyclenum

12X_coil3
=

0.5

-509.5

-510

-510.5

-511

-511.5

12X_coil3:cyclenum {run == 8001}

10112 101125 10113 101135 10114

cyclenum

12X_coil7:cyclenum {run == 8001}

10112 101125 10113 10113.5 10114

cyclenum

12X_coll4
=

05

8003

3002.5

8002

3001.5

8001

3000.5

8000

7999.5

7999

12X_coil4:cyclenum {run == 8001}

10112 101125 10113 101135 10114
cyclenum

run:cyclenum {run == 8001}

10112 10112.5 10113 10113.5 10114
cyclenum
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